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Question 1 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

For each question, four options are given. One of them is the correct answer. (56 marks)

The tablke below shows (e characlerslics of fowr plangs A, B, © and D ihad are lownd
in the echonl garden.

ST ——— — ,_;EE._ —
" Bears fruits | Reproduce by spotes | Found on fand |
A - | A
A 7 7
C - -
[ W

Based on Ihe iMonmabon above, which of the pland{s) istare Towering planis?

A) AandD
v'B) AandC
C) BandC
D) BandD
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,138
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Sean conducled an expariment in a chwssroom esing sel-ups A and B as shown
below, He recorded 1he wailer leved, H, 81 regular fime intarvels,

H

ael-up B

Which one of the following graphs represents fie correc! resulls oblained for the
plants in boih sot-ups?

A
A
Waler level,
H {em)
A
B
>
Time (hour)
v B)
A
Water level,
H (cm)
B
A
! N
i Time (hour)
c)
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Aand B

Water level,
H (cm)

Multiple Choice
No

Tue 27th Jul 2021
N/A
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Time (hour)
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The diapams below show e chamge in (he nunber of three diferent bpes of plands
im g ares from 2000 ke 2018 The arowe 0 tha diagrams indicates tha wind directipn

Kay
L

&
£

and directon of werier flow

Flant &
Flant B

Plant &

2010

2015

Based on the disgrans abowve, which one of the fsllewing shows he corred] melhod

of depersal for aach type of plart?

Randomize Answers:
Date Added:

No
Tue 27th Jul 2021
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A) Plant A Plant B Plant C
L P L1
| By wind | By animals | By splitting |
B) Plant A Plant B Plant C
L P L1
| By wind | By water | By animals |
voar Plant A Plant B Flant C
L i L1
| By animals | By water | By splitting ‘
D) Plant A Plant B Plant C
L P |l |
| By animals | By splitting | By water ‘
Question Type: Multiple Choice
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Question 4 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Shuddy |ha Bowchar below. I describaes the ganaral charactanslics of the Novers (hot
are pollinated by difarent agenls.

Flowans

%mlm ""'“-:3 - |I| palineed by wind j

——

Y
pollingied by bird

Hatva wihila
calpunsd
patais?

pallnated by
bt

Plam X has whita ioesrs which poduce o swest fragrance. Based oo the
informadion given in the: flowchard, whizch agenl 5 most lkely bo poilirabe the fowers

af ptant X¥
v A) bat
B) bird
C) wind
D) moth
Question Type: Muiltiple Choice
Randomize Answers: No
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<aven healed somn watar in @ beaker thel was placed in & room al 30°C. He &id this
untd il boiled. He messured B iemperature changes snd recarded his resulls i a
graph. Which one of the graphs below shows the changes in lemperature comrachy?
A)
Temperature (°C)
100 —T—
50 -+
i
I Ti
—* Time (hour)
1
B)
Temperature (°C)
F'y
100 ==
0 —* Time (hour)
1
v C)
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Temperature (°C)

0. » Time (hour)

* Temperature (°C)

1001

6 __’_, Time (hour)

1
Question Type: Multiple Choice
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A)

B)

v C)

D)

Question Type:

Timolhy wants o buy a Bght-weaighl ghalo framsa.

Which ol lne fnlallr.ming maierals showld be used o make parls X and ¥ of the phobe
frawme: fhai he ill choose?

ClassMarker - Manage Test

Part X

Part Y

Iron

Clear Plastic

Part X

Part Y

Plastic

Glass

Part X

PartY

Plastic

Clear Plastic

Part X

Part Y

Iron

Glass

Randomize Answers: No

Date Added:
Last Modified:

QID#:

Tue 27th Jul 2021
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The diagram balow represents the life cyele of Animal W,

| mi&lﬂ Stage
(Adult) I 2

Life cycle of
Anirmal W
=lane Slage
¥ e 54 -

Il Stage A is the adull stage, what are Stages B, C and D respeciively?

v A) Stage B | Stage C | Stage D

Egg Larva Pupa

B) Stage B | Stage C | Stage D

Egg Pupa Larva

C) Stage B | Stage C | Stage D

Nymph |[Egg Larva

D) Stage B | Stage C | Stage D

Larva Egg Nymph

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A
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Campand e b ruds shown in the disgram befowe

Fibrous sk
Ciry fruin weadl

Fruit B

Biagad on (ke diagram givan above, which one of the following co discribes the
chamctarislics of Fruit A and Fruft 8 in the deperaal of thalr gaeds?

A) | FruitA Fruit B
The fibrous husk allows it to trap air to float Dry fruit wall attracts animals to eat the
on water. seeds
B) |FruitA Fruit B
The fibrous husk protects it when dropped Dry fruit wall attracts animals to eat
from the tree. the seeds.
¥ C) |FruitA Fruit B
The fibrous husk allows it to trap air to float on Dry fruit wall splits open when
water. ripe.
D) |FruitA Fruit B
The fibrous husk protects it when dropped from the | Dry fruit wall splits open when
tree. ripe.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,144
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The cEagram befow shows four processes of how water changes from one state 1o

arlhat
{as
A B
liguid 4
c 0
Salid

Which one of the tolloedng s correct ¥

A) | Processes that involve heat loss

Aand C

.
0

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A
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Qu estion 10 Primary 5 Science » Primary 5 Science (Term 4)

Which one of the following sets of characteristics can be passed down from parent to young?

A) Height, fingerprints and type of earlobes
B) Colour blindness, football skills and type of thumb
v C) Type of earlobes, ability to roll tongue and dimples

D) Dimples, ability to roll tongue and length of fingernails

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 27th Jul 2021
Last Modified: N/A

QID#: 28,531,147
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Question 11 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

The diagram below shows a developing baby in (he femake reproduciive syslam.

Which of the faliowing staterment(s) aboul part A below isiare comect?
A W sends cxygen from the mather to the developing baby,
B i sands nutrients from the moiher io the developing baby.
C M sends carbon dioxide from the mother to the developing baby.

v" A) Aand B only
B) B and C only
C) AandConly

D) A,BandC

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A
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Question 12 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Jim ctserved and classified lhree lypes of cells using 1he flow eharl shown beiow,

Colla

v

Does it have @ oall wall?

l o l i

Dpes it have chioroplasi=? J Doas it have & niceus?
| Yes l Mo Yes 11 Mo
k ¥ i
A B c Fed bjood cells

Bazesd o [he above classification, whal can ceils A, B and C ba?

Ma o fo |
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| leaf cells I root cells | stem cells l

B) (A B c

stem cells | leaf cells | root cells

C) |a B c

root cells | leaf cells | cheek cells

v'D) |a B c

leaf cells | root cells | cheek cells

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,531,151
Question 13 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Four pupls were sharing how they use elecircity in their homes. Below are heir

inpas:
Pupd A | e the tan inslead of he air-condiioner when | skeep. | .
Pugd B | chack thal lhe lap is comgletely temed off afler my
shiower.

Pupil & 1 swiltch off the ielevision when no one is walching
Pupll D 1 elews il the lights on in my bedrocm,

Which of the studants are helping bo conserve aleciriciy?

¥ A) Aand Conly

B) B and D only

C) A,BandC
D) B,CandD
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,152
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One of the objects, A, B, C or D, In the circuit below is an insulator of elechicity.

bex wilh
bustfesias

Bwilch

When the swifch is closed, only three bells in the cireult g, Which one of (ha four
objects is an insulator of aleclricly?

Tha disgram balow shows 8 single-callad arganizn that lives in the pond. Tha
fageium helps the cell io mave abo in the wabter, It has bean observetd 1het this ced
frvae near the suece ol the pard anky in the day.

chioropiast
LR -

¢4 =
| AR ST
Which s of Bhe fellowing Best explains why the cell eads 1oomose o 15 stacs in

i TGS L
1hix diay’
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A) A
B) B
C) C
v D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A
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A) To trap heat to make food.

v ' B) To trap sunlight to make food.
C) To look for food near the surface.

D) To gain heat from the sun to keep warm.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,531,154
Question 16 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Joshua ate some food for dinner. Tha ber graph below shows the amount of food
digasied at diffsrant parls P, O and B of s digeslive sysbam.

Amount
of fand
digmsind

———

2 o R Farts of tha
dagestive
Sysiem

Which ane of the lollowing shaws the correct pans of the dipestive system?

A) [p Q R

Mouth | Stomach | Small Intestine

B) |p Q R

Stomach | Small Intestine | Mouth

C) |p Q R

Stomach [ Mouth | Small Intestine

V' D) |p a |[RrR

Small Intestine | Mouth | Stomach
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Question 17

Multiple Choice
No

Tue 27th Jul 2021
N/A

28,531,155
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Primary 5 Science » Primary 5 Science (Term 4)

Rysn made & circull card with melal cips a1 each of the peinls &, B, C, D, E and F
Some of the cips sre connecled by wies behind (e cad, He cornecisd a circuit
taster to the different points on the card and recorded his findings in the table below.

Points tested | Does the bulb Bght up 7
T AandD Mo |
Band E Yes 1
Cand F Mo
EandF Yes
S g i
Which cna of the follewing is the cincuil card that Ryan made? I
A) A E'
2
F 8 )G
[ ] ®
E D
v B)
A B
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C)
A B
L
F & C
E D
D) |I|"'l- B
F C
@
E D
Question Type: Muiltiple Choice
Randomize Answers: No
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The disgram beow shows whal happens before and alter a cell = placed n &
container filed wilh svhsiances X and ¥,

it the beginning Bfter 10 minubes

& =
l:h.
-l:?

= ]

]
g Subsiance X
o Subslance

|

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

il membrars

ricaus

Multiple Choice
No

Tue 27th Jul 2021
N/A

28,531,157

call membmne

Based on fhe dingram abova, which one of tha nllpwing statements best explaies he
above chsersalion?

A) The nucleus allows only substance Y to move into the cell.

B) The nucleus allows substance X and Y to move into the cell.
v" C) The cell membrane allows only substance Y to move into the cell.

D) The cell membrane allows only substance X to move into the cell.

Primary 5 Science » Primary 5 Science (Term 4)
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Tha gal-up below shows Sighl fram a torch ahindng en lhree wooden chjects &, B and ©
Thesy are placad s different dislances from e fach

Whal pre obpacts A, B and CF

A) A

1O A
N e
| A
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Question Type: Multiple Choice
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Question 20
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Primary 5 Science » Primary 5 Science (Term 4)

Cihwiis wanied 10 Tind ot haw the exposed surface area of a container affacts tha rate
of avaporalion of waler from it The mhlke balow shows saveral possible set-ups.

Exposed surface Temperature of | Speed of wind (kmih)
area of the contalner surmbunding [°C)
{em?)
A G 40 10
B B0 25 10
C 5l 40 15
o 50 L 10

A) AandB only
B) Aand C only
v' C) BandD only

D) CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 27th Jul 2021
Last Modified: N/A

QID#: 28,531,159

Question 21

Sludy the activilies lisled balow,

A) AandBonly
B) B and C only
C) BandDonly

A Take bonoer showers,
B Usewster from finzing the elothes o wash fhe ilals.

T Repar leaks from water tap slowly when you have the times,

0 Wash vegetables ina fub of waler Inslead af under a rning 1ap,

Which twe sel-ups can ba usad to calbry out b fair experment?

Primary 5 Science » Primary 5 Science (Term 4)

Which of the abowe aclivilies halp 1o consarve water?

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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v

D) CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,631,160

Question 22 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Peler phucked a leaf from a plant and placed it in a beaker ol hol waler,

He: ohsarved that there wers more bubblas on the lower surfacekhan on the uppEsr
saface of the leaf.

Which one of the following conclusions is comeci?

A) The leaf has openings on the upper surface but not on the lower surface.
v B) The leaf has more openings on the lower surface than on the upper surface.

C) Air enters the lower surface of the leaf and escapes through the upper surface.

D) Bubbles form in the water and land equally on the upper and lower surfaces of the leaf.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,531,161

Question 23 Primary 5 Science » Primary 5 Science (Term 4) 2 pts
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The diagram below shows the directian of biood fiow in a human body. A B, Cand D
an= blood wassels

: T - L.:umgu._____,.f *
I - I
/

i 1

Body cels

BEEn |

|} - —

Which fwo blood vassels camy Baood rich in carben disaixde?

A) AandC
v' B) AandD
C) BandC
D) BandD
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,162
Question 24 Primary 5 Science » Primary 5 Science (Term 4) 2 pts
A) 5°C
B) 10°C
C) 15°C
v D) s55°C
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,163
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Question 25

Primary 5 Science » Primary 5 Science (Term 4)

Which one of the following shows the correct sequence of processes in the reproduction of a flowering

plant?
A)
/ fertilisation \
germination seed dispersal
\ pollination /
B)
/, fertilisation \
seed dispersal pollination
\ germination A/
/ fertilisation \
germination pollination
\ seed dispersal
v’ D)

7
/ ferlilisation \

pollination seed dispersal

\ germination ‘/

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,164
Question 26 Primary 5 Science » Primary 5 Science (Term 4) 0.3 pts

Christing wanied io find ouf how tha rumber of batteries used afaels The ruenber of stesl papar
dfips atimoied i Hw sleciromagnet. Sha sal up he expedmesnt as shown o,

estiery iran redl

sten| papar dips

The resulis of ber pepedimen] was shown (n thi bae gisph bebo

BMumber of stael 5

papor chps
_Q-QD_D_E & Mumbar of

altracied 1o iha
elecinomagmal
bablanes used

Which of B following varisbles had to be dhanged or kept the same =0 that the
expevimend conducted was a fair lesi? Indicade your cholcs with a lick {+) in e lablo

prowficed Bolow. 1]
Variable: The number of batteries used
A) Kept the same
v' B) Changed
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,165
Question 27 Primary 5 Science » Primary 5 Science (Term 4) 0.2 pts
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Crristinm wanied io lind ol how i rumber of batteries usod aBecls The murnber of steal papar
thips atirmcied §0 the sleclromagnet. Sha sal up Ihe expedmant as shiown beisg,

wine

estiery iran redl

stea| papar ips

The resulis of her experiment was shown In the bar gisph bekow

BMumber of stael 5

papor rips
altracted I ihs

elecinomagmal

IT”:":I » Bumbar of

d 4 bablsmes used

Which of B following varisbles had to be dhanged or kapt the same eo that ihe
experimend conducted was a fair lesd? Indicale your cholce with a lick () in fie lable
podided below. 1]

Variable: The distance between the electromagnet and the paper clips

v A) Kept the same

B) Changed
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,150
Question 28 Primary 5 Science » Primary 5 Science (Term 4) 0.2 pts
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Crristinm wanied io lind oul how b rumber of bateries usod sBecls The murnber of stoal papar
thips atirmcied §0 the sleclromagnet. Sha sal up Ihe expedmant as shiown beisg,

wine

estiery iran redl

stea| papar ips

The resulis of her experiment was shown In the bar gisph bekow

BMumber of stael 5

papor chps
altracied 1@ 1ha

elecinomagmal

IT”:":I » Bumbar of

d 4 bablsmes used

Which of B following varisbles had to be dhanged or kapt the same eo that ihe
experimend conducted was a fair lesd? Indicale your cholce with a lick () in fie lable
podided below. 1]

Variable: The number of coils around the iron nail

v A) Kept the same

B) Changed
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,148
Question 29 Primary 5 Science » Primary 5 Science (Term 4) 0.3 pts
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Crristinm wanied io lind oul how b rumber of bateries usod sBecls The murnber of stoal papar
thips atirmcied §0 the sleclromagnet. Sha sal up Ihe expedmant as shiown beisg,

wine

estiery iran redl

stea| papar ips

The resulis of her experiment was shown In the bar gisph bekow

BMumber of stael 5

papor chps
altracied 1@ 1ha

elecinomagmal

IT”:":I » Bumbar of

d 4 bablsmes used

Which of B following varisbles had to be dhanged or kapt the same eo that ihe
experimend conducted was a fair lesd? Indicale your cholce with a lick () in fie lable
podided below. 1]

Variable: The type of paper clips

¥ A) Kept the same

B) Changed
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,146
Question 30 Primary 5 Science » Primary 5 Science (Term 4) 0 pts
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Chrisling wanlsd 1o lind owl how ha rumbsr of Bateries used aftacla e muenber of steal papar
thips atirmcied §0 the sleclromagnet. Sha sal up Ihe expedmant as shiown beisg,

wine

estiery inan red
stea| papar ips

The resulis of her experiment was shown In the bar gisph bekow

BMumber of stael 5
paper chps
altracied 1o 1his
elecinomagmal

DDD » Bumbar of

d 4 bablsmes used

If there were no errors made, what should Christine's conclusion be? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,178

Correctly answered feedback

ﬁ.g the number of batteries used increases, the number of paper
elips attracted to the electromagnet increases.

Incorrectly answered feedback

ﬁf the number of batteries used increases, the number of paper
elips attracted to the electromagnet increases.

Qu estion 31 Primary 5 Science » Primary 5 Science (Term 4) 0 pts
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Chrislinn wanied to find ol how thi rambser of balteries used aBacls he murnber of stoal papar
thips atirmcied §0 the sleclromagnet. Sha sal up Ihe expedmant as shiown beisg,

wine

estiery iran redl

stea| papar ips

The resulis of ber pepedimen] was shown (n thia bar gisph bebow

BMumber of stael 5

papor chps
altracied 1@ 1ha

elecinomagmal

IT”:":I » Bumbar of

d 4 bablsmes used

Christing’s taacher said hat she hed made one emor in recording the resuls of her

experament, On the bar graph sbove, shade e bar whens she had mos| Fely mads
Ihe ernor [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,187

Correctly answered feedback

Pagrmdeer of SieEl 4§

PEPAF CEaE L
Blracied 1o 1ne |

hrcirpmaane]

e vy

,,DH@U____.MM
] s |

Eatienms used

Incorrectly answered feedback
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Pournter of ciepd 4
PEPUT GRS L
shracief o ire |
elrciromasnel
:
0al]
s - EUSR—— T
2 4 4 8 balieies used
Qu estion 32 Primary 5 Science » Primary 5 Science (Term 4)

Crwristinm wanted 1o lind ol how i rrifmter of batberies usod afacls the munber of sical papar
dfijs nttmcied o the sleciromagnet. Sha sel up Ihe sxperdmsant as shown befow,

ety inan red

sheq| papar dips

The resulis af her expeniment was shown in the ber gisph bekow

Mumber of sleef 4

papar chps
altracted 1o the

elecimmagmal

IT”:":I v Mumbar of

J 4 batiares used
Besides iron, name another material that the nail can be made of.

Accepted answers:

v Steel

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,201
Question 33 Primary 5 Science » Primary 5 Science (Term 4)
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The: ciimgram below shows thiee similar flowens from plant X,

Flenwer 1 froum Flower 2 from Flower 3 fram
plant X plant X plant X

If The armowie) mdicale(s) ihe movement of polian grains, which arrow(s] cornaclly
showds) ihe process of pofination laking placa?

A) Aonly
B) Conly

v" C) Aand B only

D) A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,166
Question 34 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Tnodhy usod the sel-up below (o collec) water from boding mik
glass plaie

Which ore ol the iofiowing could Timothy do Il e wanls o collect the mos! amaunt of
wirler within the shorest periad of lime?

A) Add ice cubes to the boiling milk
B) Use a warm glass plate to collect the water
C) Switch off the flame when he sees bubbles in the beaker

v’ D) Change the glass plate to a steel plate that had just been removed from the fridge to
collect water
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,531,167
Question 35 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

A, B, C and [ are processesistages in the water oycls,
clouds

Which one of the fodowing comecly describe the processss/stages during the water
cycia?

v A) Change from liquid to gaseous state | State of water at B | No change in state

Aand C Liquid D

B) Change from liquid to gaseous state | State of water at B | No change in state

Aand B Gaseous D

C) Change from liquid to gaseous state | State of water at B | No change in state

CandD Liquid B

D) Change from liquid to gaseous state | State of water at B | No change in state

Aand C Gaseous B
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,168
Question 36 Primary 5 Science » Primary 5 Science (Term 4) O pts
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Adi was given & 50 em? ump of plasticne and o messading cylinder conlaining 23 om? of

winler
=0k | Measuwing
4 cyfredar
100
filt em® 3 [
lump of 80
plasteing b ——de 5 em® of weinr i
' R [

He lomeled the kinip o paslcng ko thi moasuring cylinder of walsr compielely

Lising & nber and pencil, draw the water level in the diagram below afier he had lowarsd
the plasticing completaly into The measuning cyfndar of water. - in

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,190

Correctly answered feedback

- 153k | Meazuding
- ! Cybnader
107
o E Sem

Incorrectly answered feedback
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Question

W ler

B o
| al
plasEcing

A) TRUE

v’ B) FALSE

Question Type:
Date Added:
Last Modified:
QID#:

Question

37

150

ple i) o

-

Primary 5 Science » Primary 5 Science (Term 4)

Adi was given & 50 om? ump of pislicine and o measing sdinder contoining 23 cm? of

cykredar

50 em® of weater 1

50 cm? lump of

Hit loweded the kirp of phasfasng B0 Thi mopsuring cyfinder of waler cormpletsty

Adli then look the plasticine out of the measuring cylinder and flattened i

Flaltened
plasticing _. @@ plasticine

True False

Tue 27th Jul 2021
N/A

28,531,176

38

State if the following sentence about plasticine is True or False.

The shape of the plasticine can be changed because it is a liquid.

Primary 5 Science » Primary 5 Science (Term 4)
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Adi was given & 50 om? mp of piaslicine and o eeasiing sdinder conteining 83 cm? of

wamler
150 Plissesa wriig)
4 — cylnder
100 [
B0 cm® i
Iumg 80
plastcinn e ——fee 5 of iR i
' R [

He loweded the kimp of paslcng ko thi mossuring cyiinder of walsr compielsly

Adli then took the plaslicine out of the measuring cylinder and flattened il

50 crm® lump of Flattened
plasticine _. " @B rlasticine

He then lowered the flaltenad plaslicne completely inlo the messuring cylinder
conalning S0 ' of waler sgom, What would 1he reading of the waler level be after
he had lowered the fsbened plasticine com Irfo the measuring cylinder?
Expdain your answar. 12]

Accepted answers:
¥’ 100cm cube
¥’ 100 cm cube
v’ 100cm

v 100 CM

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,205

Correctly answered feedback

100 cm?. Its volume remains unchanged when shape changes.

Incorrectly answered feedback

100 cm?. Its volume remains unchanged when shape changes.

Question 39 Primary 5 Science » Primary 5 Science (Term 4) 0.5 pts
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Adi was given & 50 om? mp of piaslicine and o eeasiing sdinder conteining 83 cm? of

wamler
1508 Plissesa wriig)
3 [ cybnder
100 F
B0 cm® i
Iumg 80
plastcinn e ——fee 5 of iR i
' R [

Hit loweded the kimp of plasticing o the measuring cyfinder of waler carmglststy

Adli then took the plaslicine out of the measuring cylinder and flattened il

50 crm® lump of Flattened
plasticing * @@ nplasticine
State if the following sentence about plasticine is True or False.

Plasticine is matter as it has mass and occupies space.

v A) TRUE

B) FALSE

Question Type: True False

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,169
Question 40 Primary 5 Science » Primary 5 Science (Term 4)

The graph balow shows e breathing ratss ol bes Boys, Ban and Jack. A fims, by wes balh
raEling. than they stared joqoing togother and latar they siopped jogaing togaiharn al Ihe seme

hime
Musabsar ol beeaine par
e
§

S— H“n

Jack

o Tirwe {min)
Hanl of jogging Erd ol jogging

State if the following sentence about Ben's and Jack's breathing rates is True or False.

Jack's breathing rate is higher than Ben's breathing rate during jogging.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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A) TRUE
v B) FALSE

Question Type: True False

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,170

Primary 5 Science » Primary 5 Science (Term 4) 0.5 pts

Question 41

The graph balow shows e breathing ratss ol bes Boys, Ban and Jack. A fims, by wes balh
raEling. then thay stared joqping togother and kater they siopped joogdging Wogaihar al e sRmE

b
MHumnbsar af beeaing per
b
I
/
/
¥
!
Bl et H“n
Jack
X S ey
b ] s I i i
Siarl of jogging Erd ol joaging

State if the following sentence about Ben's and Jack's breathing rate is True or False.

When they both stopped jogging, Jack's breathing rate returns to normal fast then Ben's breathing rate.

v A) TRUE

B) FALSE

Question Type: True False

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,171

Primary 5 Science » Primary 5 Science (Term 4) 1 pt

Question 42
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The graph below shows e breathing rates ol teo boys, Ben and Jack. At fims, ibay wes baih
raEling. then they stared jogping togother and later they siopped jogiging logatharn al lhe same

i1 ]
Musnbar al breaihs por
et
it ind
/
) .
e it " Bﬁn
i dack
H i Y
n r
v | s | Tirrsa {Fnin )
Zanl of jogging Erd of joaging

Name any two human organ systems that are involved when a person is jogging.

Accepted answers:
v Respiratory system and muscular system.
v respiratory and muscular system
v Respiratory system and Muscular system
¥ Muscular system and respiratory system

¥" muscular and respiratory system

Question Type: Free Text

Date Added: Tue 27th Jul 2021

Last Modified: N/A

QID#: 28,631,203
Question 43 Primary 5 Science » Primary 5 Science (Term 4) 0 pts

The graph balow shows e breathing ralss ol bes Boys, Ban and Jack. At fimss, bay wers balh
raaling. then 1hey sared jogging together and kefar they siopped jogging bogaitar al lha same

b
Husnbsar al beeaihs par
et
4
i T Eﬁn
Jack
- I i

n Ll

0 | s i Tirrs {min)
Sharl of jogging End of jcgging

Based on the graph provided, describe the change in the breathing rates of both Ben and Jack when
they started jogging till 5 minutes. Explain your answer. (2 marks)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,194

Correctly answered feedback
During jogging, they have to breathe faster to take in more air with oxygen.

Incorrectly answered feedback
During jogging, they have to breathe faster to take in more air with oxygen.

Question 44 Primary 5 Science » Primary 5 Science (Term 4) 0.5 pts

The tao diagrams balow shew the raprodiclive systems of & flowsr and 3 human famals
reEpnilively.

raproductive sysiem of & ' reproductive sysiem of o
flovenr I himan tamale

The dizgram belew shows b ypes of reproductive cells in humans

Stade il the following sietements about the reproduclive cells sre true or false by wriling
"T” ar F in tha table balow. [2]

The fertilised egg will develop into a seed.

A) TRUE

v B) FALSE

Question Type: True False

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit 39/62
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Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,172
Question 45 Primary 5 Science » Primary 5 Science (Term 4)

The two diagrams below show (he faprodhiclive systams of & Tkewr anid 8 man {amale
repaiivaly.

rapraduciive sysiem of & " reproductive sysiem of o
ficwezr I human tamale

The dimgram below shows beo types of reproduclive: cells in humans

Stale ilHhe following sistements about the reproductive cells are true o false by wriling
"T” ar F in tha table balow. [2]

The sperms are produced in the testes of the male.

v A) TRUE

B) FALSE

Question Type: True False

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,173
Question 46 Primary 5 Science » Primary 5 Science (Term 4)
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The two diagrams. below show (he japrodhiclive systams of & Tkewr and a uman {omale
repaiivaly.

T
— - L]
]

__\\ 2

rapraduciive sysiem of & " reproductive sysiem of o
ficwezr I human tamale

The dimgram below shows bwo types of reproduclive cells in humans

Stade il the following sistemenls about the reproductive cells are true or false by wriling
T or "F" in tha 1able balow. [2]

Fertilisation of the egg cell happens in the ovary of the female.

A) TRUE

v B) FALSE

Question Type: True False

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,174
Question 47 Primary 5 Science » Primary 5 Science (Term 4) 0.5 pts
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The two diagrams below show (he (aproduclive systams of & fkeer and 8 human {amale
reEpnGlively.

rapraduciive sysiem of & repraductve sysiem of o
ficwezr I human tamale

The dimgram below shows bwo types of reproduclive cells in humans

Stade il the following sistemenls about the reproductive cells are true or false by wriling

T or “F" in tha table balow. [2]
The eggs can be fertilized by two sperms and can develop into a baby.
A) TRUE
v B) FALSE
Question Type: True False
Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,175
Primary 5 Science » Primary 5 Science (Term 4) 0 pts

Question 48

Slugy the hree diferent cells, P, O and R shoan halow,

cell P call Q cell R

Besides containing genetic information that is to be passed down to the next generation, what is
another function of the nucleus in a cell? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.
42/62
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,180

Correctly answered feedback
The nucleus controls all activities in the cell.

Incorrectly answered feedback
The nucleus controls all activities in the cell.

Chiislinn healed soma ice in o Beaker. He noliced shat ail the lco melied &fler 4 mnales. Ha
recardad e lemperiiune changes throughout his expsarimesl avd repressnied bis resuls as
sfovan in the ling graph bedeow

Tampsaralure (°C)

120 s = e el
|-.:. 7]

100 )

) # 1

& ;I B
"Wl
N4

D ? 4 @ 8 1012 4 18 A

Thma: {min)

Chrizlian was bofd thad Ihere was & misiake in fhe graph as reomsenied by She lne PO

Explain the mistake in the graph from P to Q. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,181

Correctly answered feedback

The temperature should remain at 0°C for the first four minutes before increasing.

Incorrectly answered feedback
The temperature should remain at 0°C for the first four minutes before increasing.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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Question 50

sfovan in the ling graph bedeow

Tampsaralire (*C)

ClassMarker - Manage Test

120

a0

10 )

A par

w/f-

20—
fF‘f
I S

o @ 4 @

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,182

Correctly answered feedback

Liquid to gaseous state.

Incorrectly answered feedback

Liquid to gaseous state.

Question 51

4 18 8

State the change in state occurring from points Q to R. (1 mark)

Primary 5 Science » Primary 5 Science (Term 4)

Chirisiinn heated seme joe n 8 baakar. He noliced fhat all the ko melled afler 4 mirales, Ha
mecardad Ihe lemperilune changes throughout his eapsarimesil and represenied bis resuls as

Thmi {min}

Chrizlian was bofd thad Ihere was & misiake in fhe graph as reomsenied by She lne PO

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 5 Science » Primary 5 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit

0 pts

0 pts

44/62


https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531181
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531181&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1787959
https://0cm.classmarker.com/6226088_YOXRXVJ2.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531182
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531182&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1787959

9/21/21, 9:34 AM ClassMarker - Manage Test

Chiistinn heated seme joe i 8 Baakar. He noliced shat all the kco melisd afler 4 minales, Ha
reEardad 1 lemperiiune changes througho e his eperirel and epresenied bis resuls as
sfcwn i she ling graphy bedow.

Tampsaralure (*C)

120 o - —
p R

1600 }

B0 Al — b

a0 /1 1 e 9
Pl
o

o % 4 @8 B8 10 12 % 18 B

Thmi {min}

Chritlian was boid lha (e was. & mistake in e graph as repesenied by the line PO
Suggest a possible reason why the temperature decreased from points R to S. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,186

Correctly answered feedback
Christian stopped heating the water.

Incorrectly answered feedback
Christian stopped heating the water.

Question 52 Primary 5 Science » Primary 5 Science (Term 4) 1 pt

Study the hree diferent cells, P, O and R shosn baiow,
el wall

cell P call Q cefl R

Which cell(s) is/are taken from an animal? Explain your answer.

Accepted answers:

v CellP

vp
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Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,199

Correctly answered feedback
Cell P as it does not have a cell wall.

Incorrectly answered feedback
Cell P as it does not have a cell wall.

Question 53 Primary 5 Science » Primary 5 Science (Term 4) 0 pts

Bludy the three diferent cells, P, Q and R shoan bakow,

cell P call cell R

The dagram below showa a saclion of the ool when observed under a microzeope,

Obsenm the two different type of oot cells (A and B}, shown above.

Root cell B absorbs water faster than root cell A. Based on the structure of the cell shown, explain why.
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,184

Correctly answered feedback
Root cell B has a larger exposed surface area.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit 46/62


https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531199
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531199&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1787959
https://0cm.classmarker.com/6226088_OPNTLVN6.jpg
https://0cm.classmarker.com/6226088_KG3KI7XC.jpg

9/21/21, 9:34 AM ClassMarker - Manage Test

Incorrectly answered feedback
Root cell B has a larger exposed surface area.

Primary 5 Science » Primary 5 Science (Term 4)

Question 54

Study the hree diferent cells, P, O and R shown baiow,

cell P call Q cell

Observe the two different type of root celis (A and B}, shown above.

Which part of a plant cell is missing in the root cell that can be found in a green leaf cell?

Accepted answers:

¥’ Chloroplast

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,200

Primary 5 Science » Primary 5 Science (Term 4)

Question 55
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—armue| heats up 108 cm® of waler in 8 meta: pol as ehown in The disgram below,

Mharme

Describe the transfer of heat from the flame to the water. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,183

Correctly answered feedback

The metal pot gained heat from the flame and transferred the
heat te the water in the pot.

Incorrectly answered feedback

The metal pot gained heat from the flame and transferred the
heat te the water in the pot.

Qu estion 56 Primary 5 Science » Primary 5 Science (Term 4)

Sarmuel heats up 100 cm?* of waler in 8 meta; pot as shown in the diagram below.

Explain why metal is a suitable material to make the pot. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit

0 pts

48/62


https://0cm.classmarker.com/6226088_E3NDXDSF.jpg
https://0cm.classmarker.com/6226088_OJ7LHHQ7.jpg
https://0cm.classmarker.com/6226088_OJ7LHHQ7.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531183
https://www.classmarker.com/a/tests/qb/manage/?test_id=1787959&question_id=28531183&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1787959
https://0cm.classmarker.com/6226088_E3NDXDSF.jpg

9/21/21, 9:34 AM ClassMarker - Manage Test

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,179

Correctly answered feedback
Metal is a good conductor of heat.

Incorrectly answered feedback
Metal is a good conductor of heat.

The disgram Bakore shoss o fowers. One = a wesd pollinated Nower while the oliver (5 80
animial-pollinated flover,

artihasr

Ohaerve the dingrams: ol the Bowers carsfully, [

Explain why fertilisation did not occur when the pollen grain of flower X are transferred to the stigma of
flower Y? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,185

Correctly answered feedback
Pollen of a different type of plant will not be able to fertilise it.

Incorrectly answered feedback
Pollen of a different type of plant will not be able to fertilise it.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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The two diagrams below show (he (aproduclive systams of & fkeer and 8 human {amale
reEpnGlively.

rapraduciive sysiem of &
Tlowsgr I

Label the ovaries in the two diagrams above. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,188

Correctly answered feedback

reproductive system of &
human female

Incorrectly answered feedback
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i
A

T
\)

reproductive system of a reproductive sysiem of &
flowar hurman female
Qu estion 59 Primary 5 Science » Primary 5 Science (Term 4)

Wiarning wenied 1o find oul how the length of the wing-ike siruciure of frod £ allecs [Fe fime
il taias 0 reach e ground.

H&d-i'uﬂﬂl&dlh&fl‘:liﬂ'ﬂfﬂakmiﬁldﬁmurdremrd:dﬂrih:hkmlﬂf il o regch fhe ground
He mpeated the sxpenment using The sama fnil bul with diferent lenglhs of e wingke

slructures. Thie wiang recorded in e fabbe balow,
Length af wing-like Time takon far tha frult £ to reach the Eﬂlﬂ'ld{i::
kit jcen) o e e P
by o] 7 gy A iy Average
i3 6.5 T.0 6.1 6.8 |
5 4.8 4.7 5.1 4.5
i ¥ 1.4 18 148

What conclusion can Weiming make based on the results?

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,191

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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Correctly answered feedback

The longer the wing-like struciura. the longer it will take for
fruit Z to reach the ground.

Incorrectly answered feedback

The longer the wing-like strutiure. the longer it will take for
fruit Z to reach the ground.

Question 60

Primary 5 Science » Primary 5 Science (Term 4)

WiaEning wanied 1o find oul bow the length of the wing-ike siruciore of frod £ allecs [Fe fime
il tadoae 0 reach e ground.

He dvepypsed e froil from a heighl of 3 m and reconded the fime Gaken bar il fo reach e grouod.

He repeated e rieal using Me sama il bl wish different lengihs of ®e wing-ike
slructures. The wara recorded in e lable below,
Length af wing-likn Time takon far the fruit £ to raach Ihng‘ol.l'rd{sﬁ
Structue fom) e L SRR FRcr,
by | T 2y A iy BAverage

L4 6.5 7.0 6.5 6.8

5 49 4,7 54 41

q 1.7 1.9 1.8 1.8

State one reason why trees need to disperse their fruits far away from the parent plant. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,193

Correctly answered feedback
To avoid overcrowding.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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Incorrectly answered feedback
To avoid overcrowding.

Question 61 Primary 5 Science » Primary 5 Science (Term 4) 0 pts

Fencing payans use practico boards to improve thelr sirlking skils in preperation ter 8 madch
Thea disgran befow shows the ployer and the circull for fhe sconng system, Thie payed in tha
diagram Defore wears a sl with o body wire aitnched sl ore ond of his waspon and at fha
oihier anid ko Bhe scoring syslem as shown below. Whan a player's weapon hits the targel area
on [ praclice board, She bully in il scorng systam will ight up.

Based on the set-up above, explain why happens when the player's weapon strikes the middle of the
target board and lights up the bulb in the scoring system. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,195

Correctly answered feedback

wn_u!: the player strikes the target area, the bulb will light up
as it is a closed circuit. Current from the batiery is then able to
flow which lights up the light bulb.

Incorrectly answered feedback
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When the player strikes the target area, the bulb will light up

as it is a closed circuit. Current from the battery is then able to
flow which lights up the light bulb.

Qu estion 62 Primary 5 Science » Primary 5 Science (Term 4) 0 pts

Evan caried cul = expiment i uesligate one el alfeciing the mie of evaporstion o
walted, He iook Theva similar shints coch complistely wel with the same amaunt of water

He cid ot fiakd shirt A, Tofded shirl B oncs o shin G ewo Gmes, 88 shovwa in the degram below,
Ths shirts wana an lefl on & teble in en enclosed oom at 25 *C Evan recordod the time 1soen

/ Tt \
Ll || H

Suggest two other ways by which Evan can speed up the drying of his three shirts. (2 marks)

[

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,196

Correctly answered feedback
Put a fan beside the shirts and put it in a hotter area/in the sun.

Incorrectly answered feedback
Put a fan beside the shirts and put it in a hotter area/in the sun.

Qu estion 63 Primary 5 Science » Primary 5 Science (Term 4) 0 pts
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Evan carfied cul @n expsimend i bvesligate one facior alfecing 1ha mie of evaporation of
waled, Hi iook Theva similar shints sach complstely wel with the same amaunt of water

He cid ot fiokd shirt A, Tofded ahirl B ores and shin G oo Gmge, g8 showa in the degram below,
The shirts wara Hwen e on & ke i e2n onclosed e Gt 250 Evan recoeded thie lime: 1Ramn

tor gech shirt 1o dry compleisky.

AT

[

State one difference between the evaporation and boiling of water. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,197

Correctly answered feedback

Boiling is at 100°C but evaporation is less than 100°C.

Incorrectly answered feedback

Boiling is at 100°C but evaporation is less than 100°C.

Question 64 Primary 5 Science » Primary 5 Science (Term 4) 2 pts

Evan caried oul an expsimant i mvasligate one lBeior aiecing he mie of svaposation of
weabed, Hie 100k thees similar shins coch complisbety wel with the same amaunt ol watas

He chid ik fiokd shint A, Tofded ahirl B once and shinl G bwo Gmes, a8 shown in the dagram below,
The shirts wiara Hwn (6 on & ik in 2n anclosed oo 8t 255 Evan recoeded hi lime 1rsmn

tor gach shift 1o dry complaisky.

/ Tz
Ll

Which shirt took the shortest time to dry completely? Explain your answer.

Accepted answers:
v’ Shirt A
v A
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Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,206

Correctly answered feedback

S!u'rt A. It has the most exposed surface area resulting in the
highest rate of evaporation so shirt A dries the fastest,

Incorrectly answered feedback

S!u'rt A. It has the most exposed surface area resulting in the
highest rate of evaporation so shirt A dries the fastest.

Question 65

Primary 5 Science » Primary 5 Science (Term 4) 1 pt

The two diagrams below show (he (aproduclive systams of & fkeer and 8 human {amale
reEpnGlively.

rapraduciive sysiem of & " reproductive sysiem of o
ficwear I himan tamale

What does the ovary of the flower turn into after fertilisation?

Accepted answers:

v’ Fruit

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,202

Question 66

Primary 5 Science » Primary 5 Science (Term 4) 2 pts
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Fencing players use practicn boards B improye thelr striking skils inpraparation tor 8 medch
Tha disgram befow shoss: the ployer and the cincull for thie sconing system, Thie played in tha
diagram Defow wears a =l with a body wire alteched s ona and of his waspon and al tha
oiher and o e scoring syshem 2= shown below. When a player's weapon hits the target area
on [hé pracice Dodrnd, e Bully in e soordng systam wil ight up,

Seoing
i syElem

Target area of
praclica board

Suggest the material that is used to make the target area. Give a reason for your answer.

Accepted answers:

v Steel

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,204

Correctly answered feedback

Steel. It is a good conductor of electricity.

Incorrectly answered feedback
Steel. It is a good conductor of electricity.

Question 67 Primary 5 Science » Primary 5 Science (Term 4) 1 pt
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The diagram B shows o fowers. One 5 a wnd pollinaled lower while the other i sn
animal-pollinated flowsr,

aniher

Deaeve the dingrams: al the Bowers carsfully, |

Based on the diagrams provided above, identify the wind pollinated flower. Explain your answer.

Accepted answers:
v’ Flower X

v X

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,207

Correctly answered feedback
Flower X. The anthers are hanging out to the petals.

Incorrectly answered feedback
Flower X. The anthers are hanging out to the petals.

Tha diagranm bekew shows a genmirsaling seed will s rools growing aul. Aler several days, ||

grew mone mels and leseas,
firsl leaves

Mayd Dy

Other than oxygen, what are the other two factors that are needed by the seed to germinate?

Accepted answers:
v’ Water and warmth

Warmth and water

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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v
v’ water, warmth

v warmth, water

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,208

Primary 5 Science » Primary 5 Science (Term 4) 1 pt

Question 69

Tha deagram bekow shows a geeriraling sead wills s mools growing oul. Aler seweral des, I
Qe Mo o Bl besaens,
firsl leaves

gy 0 Dey 1 Day 3
Based on the diagram above, at which day will the seedling be able to make its own food?

Accepted answers:
v Day 6
v 6

Question Type: Free Text

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,209

Primary 5 Science » Primary 5 Science (Term 4) 0 pts

Question 70
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Tha deagram ek shows a geeriraling seed wilh B2 mools growing oul. Adter severas devs, I

g mone mools el lesaens.
firsl leaves

G#Eﬂ'a

Mayd Dy Dy 3

What is the function of the seed leaf during germination? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,198

Correctly answered feedback
To provide food for the young plant.

Incorrectly answered feedback
To provide food for the young plant.

Qu estion 71 Primary 5 Science » Primary 5 Science (Term 4)

The picturn bolow shows o fermriuom sef up by Jackenn. & Ererium B A sealable piass
conlairer wilh soi and plants in il which aBows ki Bhie cresalion of & smalscale waler opele,
He was fohd i seal e conkaler Bghily ared placa It in a loeation wilh some Bghl He did nod
walar The plants or & few waeks.

air-light containar
plesnl

clasr glass hattie

e PR A

How did the moist soil stay moist for a few weeks? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/?test_id=1787959&trk=edittest_inrow_edit
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Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,631,192

Correctly answered feedback

The plants give out water vapour. The water vapour touches
the cooler inner surface of the glass container and loses heat

and condenses into water droplet which flow down back into
the soil, keeping it moist.

Incorrectly answered feedback

The plants give out water vapour. The water vapour fouches
the cooler inner surface of the glass container and loses heat

and condenses into water droplet which flow down back into
the soil, keeping it moist.

Question 72 Primary 5 Science » Primary 5 Science (Term 4) 0 pts

The picturn bolow shows o ferriom sef up by Jackson. A areriom b6 A sealable giass
corioirer wilh soi and plants in i which alows lor e crealion of & smalscoke waler oycle,
He was fokd lo seal e cantiler Bl e placas It in a loeation wilh some Bghl He did nol
vealar (e plants ior & few woeks.

gér-lighs comalner
plent

clags qlass httin

S TR

Give a possible reason why the container needs to be air-tight in the creation of this small-scale water
cycle. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 27th Jul 2021
Last Modified: N/A
QID#: 28,531,189

Correctly answered feedback

The container needs to be air-tight as to not let the liquid in the container escape.
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Incorrectly answered feedback
The container needs to be air-tight as to not let the liquid in the container escape.
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